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DIRECTIONS: This quiz is CLOSED BOOK/NOTES/COMPUTER/WEB. Calculators are permitted. Remember to specify UNITS for all answers. Use proper NOTATION. Show ALL WORK.

1. A discrete source generates a total of 1,024 messages. Calculate the maximum possible source rate that a communications system can offer for transmitting these messages, if the time required to send each message is 1 s.

 (5 points)
2. Fill in the missing cells in the following table – 
	Time-Domain waveform, w(t)
	Frequency-Domain waveform, W(f)

	
	25

	10 cos (100 t + /4)
	

	
	(f – 5)

	200 sinc (200 t)
	


(10 points)
3. Write down the characteristics of an ideal communications system.

(5 points)

4. Illustrate what happens to the spectrum of a band-limited waveform, when it is uniformly sampled in the time-domain.
 (5 points)













































































































